KAWASAKI NINJA 250-300 REF. KR02

° SECUENCIA MONTAJE
* FIG. 1

* Ne1 M5X20
* N2 M5X20
° Ne3 M5 X 25
° Ne4 M5 X 25
° Ne5 M5 X 25
° N®6 M5 X 25

* FIG. 2

* B M6 X 16




